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ABTEI—50A | ABE —65A | AMTE —75A | ABTEI—100A| ABFTE —125A & E3
S{RBTE A 0.123 0.123 0.123 0.123 0.123 h xW m2
84 TeEHE B 0.0028 0. 0045 0. 0062 0.0102 0.0154 md?/4 m2
EMREE (e} 0.1202 0.1180 0.1163 0.1123 0.1071 A—B m2
avyy—rEE D 0. 661 0. 649 0. 640 0.618 0.589 C x5.50 m3
%55. 0m& v 6. 61 6.49 6.40 6.18 5.89 D x10 m3
pg=k:ut= 10 /F X 0. 123m2=1.23m2  t=10mm
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@ D10 4 5,390 0.560 12.074
@ D13 5, 390 0.995 21. 452
® D10 880 0.560 11.334
@ D10 270 0.560 3.478
%55. 0m% v D10=268. 86kg D13=214. 52kg
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